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1. Evaluate the following limits. \ V [Do not use L'Hépital’s Rule! ]
\/ \( >
(212 — 2)'/? 1 x (1-x% ") = x #
a. lim p— l\\"’\
z—0F 374 I 7<3/$(
re
h[m\ G-x?) =t _ ot
— \ ——
\ ¢ Vo 2 V)
S ~' B X C(l-x ) T
I
\/ 2 KT
L —x —1 N
= \M\ - = ”L‘ [y \’1)‘/"{/1)
Y oy r ) DTS (((-x
7199 v () F
! VoL
. J— / —
— l\\/\\ /T_IT:— AxA 2
L A\
q(.—ﬁ, Q‘— (I’X )
b h”(l sin(x?) m%(cm’ x)
xr—3) & 2
W\A[X —= - 0O=0
\ T (X \A\m WQK) ] ' l‘\‘“ a
VA = Y —10 \C ark
X O X0
x|< It

| caslcok )| S L fo-

—

. 1 [X\<TC

A ALY - 0%

\@QQ,@qwmwi\'if\ >
%
\\)/ (<) o< | x| T
\%‘ CKL)‘< (XY Cas(k?) é\sw ”?‘)f
A /N———"_//_

- = %

R
X

WKK)\
P (e [\ \“T X =S
X0 %(Kl> Cz&(@{")‘)_; 3

i
x1o

~



(25 points] 2

d*y

2. Find
ind -3

if y is a differentiable function of z satisfying the equation 4* = y* cosz + sin x.
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3. The lengths of the sides of a right triangle are changing as differentiable functions of time.
At a certain moment,

e the length of one of the legs is increasing at a rate of 1 em/s,

e the length of the other leg is decreasing at a rate of 2 cin/s,

e the length of the hypotenuse is decreasing at a rate of 1 em/s; and
e the area of the triangle is decreasing at a rate of 1/2 cin?/s.

Find the length of the shortest side at this moment.
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[5+5+15 points)
4. Let f(x) = 22" — T2% + G

a. Compute f/(x).

,f,()ﬂ: S’KB—'\(—PX"’é

b. Write an equation for the tangent line to the graph of y =

f(x) at the point with @ = —1.

€M Write only the equation (and nothing else) in the bov!
Ji(-ll PN=42- (x—(-1)

S=0=12 , $eh=-1l

c. Find the absolute maximum and minimum values of f on the interval [-2,2].
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